27 26 7,354 50% 50%)
( ) 27 26 | ( ) 16325 50% 50%)
42
6.5 23. 6km
1 1
13 8 11 23
L=2,600m
L=4,100m
V=22,126m3 V=59,964m3 A=8,685m2 =7
N=4 N N=1
2 5
3
27
27
7 11
26
311
42
12 42




B C 29,101 4,038 72
i R6
B C 41,851 5,427 77
B C 38553 4,458 8.6
+
+ 05
R2 R7
3,742 4,997 4,112
297 430 346 05
4,038 5,427 4,458
1,057 2,480 2,468
29,086 41,829 38,537
15 22 16 50
29,101 41,851 38,553 +
72 77 8.6
B/ C 2 - 115 12.7
B/ C - 14.4 15.9




+10

+10 ~ 10 71 84 79 96
10 ~+10 77 78 86 87
10 ~+10 70 85 78 95
JR 42 311
10 1

311







